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The difference between 'the total number of (':ant('itl:xit
the total number of candidates enrolled from 1nsti

(A) 400 (B) 440 -

' e P TS T ?
M s gpeea 3 afEm A i e ek 270 fesft afiomardt a8, < o o1 forwr fewm 4 7fe

D) T -

(A) Igrafim (B) sféror ] (C) dfsm ‘s from faE:ing west at the beginning ?
Which direction are you facing now, if }?Jl turn 270 degrees clockwise fr ) iEast

(A) North-West (B) South ‘ (C) West

§ qgar 5 #ie
@wﬁmstﬁaqﬁ’ﬁwwiﬁ‘@ﬁméw10vﬁztw%,mmmw g ol
ST E | 78 e T & R g 2

3
(A) 207 [(j (B) 187
(©) 15¥= odf (D) dgHix left again and walks
A person walks 15 meters east, then &Bjns left and walks 10 meters, then turns le &

15 meters. How far is he from the starting point ?

(A) 20 meters (B) 18 meters f‘
(©) 15 meters (D) 10 meters '
mmwwm%mwmwmﬁmmﬁmwmmmﬁm
(iR snafifel & @) a1 fRrrcor qurfy &
it arvreft = 8559 O AT ITTUT SR ST STRef = 5700
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(A) 400 (B) 440 <] ©) 300 (D) 399
The following pie charts represent the distribution of candidates who were enrolled for an exam and the
candidates (out of those enrolled) who p $ged the exam in different institutes :

CANDIDATES ENROLLED = 8550 % CANDIDATES WHO PASSED THE EXAM = 5700

b ¢

ined and
ho passed from institutes S and P combine
w . . R
Z:sefl‘ and R combined is :
€ 30 - O

P
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i?ﬁﬁjmgqﬁzéﬁ::azﬂm% (B) Wwﬁ&s&ﬁ@amﬂaﬁ%
(C) e v e g &7 8 TR © (D) ot e g s g i v

Read the statements and select the cor-rect alternative
Statemeny | Tray plays table tennis.
Statemeny 3 . Table tennis is a difficult game[™]
Conclusiop, . Tray plays a difficult game. .
From the aboye statements, we can conclude thTt*‘]
(A) The conclusion stated is probably false ;,ﬁE
(©) The conclusion stated is definitely false ()
Frerfefem § 4 s TR AR A TR 2 £§
(4)  Frepror B) e @
Which of the following s
(A) Triangle

Tegarding the conclusion.

(B) The conclusion stated is definitely true
(D) No conclusion can be reached

©) T (D) =t

hapes is different from the rest 9

(B) Sphere (©) Circle (D) Square

{, af¢ ‘SCRABBLE® =t ‘1931812212
‘smb’ﬁ%qmw%mm? M

In a certain coded language, if ‘SCRABBLE’ is,
in that language ?

(A) 192021 141545

5’%mﬁw%mm%,a’rsa‘Twﬁ

c@ded as “19318122125°, how will ‘STUNNED’ be coded

(B) 192022141454 () 192021141454 (D) 192020141545

3 () .

R i < sk g A T ek 3 ‘Rﬁﬁmﬁm%w&rﬁréﬁ% " FefeT 1 3w afyer &
HTHIT R 7 o
(A) =& @ @) e
©) wam (D) =
Pointing at a woman, Nirmala said, “She is the daughter of the only son of the mother of my sister.” How
is Nirmala related to the woman ? L_]
(A) Sister T] (B) Cousin

{r.‘
(C) Paternal Aunt l] (D) Mother

6
STTAT AR HATE 2 .
What is the next letter ? H
P:Q::T: &)

(B) P T OT

(A) R
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9. m ‘ D) &al ﬁ
Curtains are related to fabric in the Same way as blings are related to :
(A) Slats (B) Lifters (C) Cords (D) Covers

Lo, T o1 T WA & 2, T T AR HA R :
@) wEgmE (B ™ © s ) A
Soap is related to Clean in the sameé Way as Pel’fume“i"sf related to :

€'

(A) Neat (B) Smell (C) Smart (D) Freshness

£

11. aﬁmm"ﬁqﬁ:’miﬁm@%%m130@3@‘@1@@%,&%@%%@@@@
T E? v,

(A) R (B) I [(©) ahaorafim (D) Ieeafem
If you start facing South-West and turn 180 degrees §6 your right, what direction are you facing now ?
(A) South-East (B) North-East G(t) South-West (D) North-West

12. 140 ferenfeiat & wegor & arm T o6 60 forameff dfifeat A S v F@ €, 70 Rt TER W S T
FA &, TUT 75 erarell SAra2ei 19 W Te 5 § | sa iRt 30 DT STER 31 SR At At T 3,
18 w1 Sfifeat 1w S STTeeER 1M AT e vhz ¥ 42 i ifee i o HER i AT et wE €, qe § FY andt
TR h Tel THE & | 3 S H1 94 T I S 37 71q DT S Fael TR A Ao ¥

In a survey of 140 students, 60 students like to play video games, 70 students like to play indoor games,
and 75 students like to play outdoor games. Additioﬁally, 30 students like to play both indoor and outdoor
games, 18 like both video games and outdoor games, 42 play both video games and indoor games, and
8 like all types of games. Use the Venn diagram to fEld the students who play only outdoor games.

(A) 57 (B) 32 }'(j(:) 35 (D) 64
13.  ofEen # qu §EATd (A, B) T v 3R B + A %10 31 i |

Find the missing numbers (A, B) in the series and ﬁEd the value of B + A.

25,36,49, A, 81, B, 121. ‘é’;

(A) 146 B) 125 (©) 152 (D) 164
14 IMp>q=p’+FMp<q=p3 -2 A(1>2)<3=

pr>q=p2+q3andp<q=p3—q2,then(1>2)<3=

(A) 720 (B) 840 (©) 600 (D) 480
15. ﬁﬁ%@awaﬁm%aﬁﬁﬁmsﬂth?ﬁaﬁmmmaﬁm

RK59#B2%*E?A8LSI4SV7IC6N@H13D

@%ﬁ%mﬁ,ﬁqﬁ@m%mmﬁrm%@ﬁa%?

Examine the following sequence closely and I‘eSponé;‘dt;O the question that follows.
RK59#B2%*E?A8L$I4SV7!C6N@@";l3D
How many letters are there, each of which is irlé{gediately preceded and immediately followed by 3

symbol ? 6l
(A) 2 (B) 3 ((C)O ______ D) 1
"""""""""""""""""""""""" Page 4 of 24



16.

17.

18.

19.

20.

T Page 5 of 24

e e e i e oy 3 g, 9 7 EC 'E'K'ﬁﬁ“”ﬂmﬁa@mmo

Given the pattern in the provided comblmfltlons » how Woulq

you express the combination represented

by ‘2 ?
AZ3B, CY6D, EX9F, 9 L |
(A) KXI8L (B) NZ2103" © Gwion (D) 1V15J

A et 3 ek e m“’@“ﬁ?ﬁﬁmﬁmmwv

Given the pattern in he prov1ded
by ‘f)’

numbers

€ how woulg you express the number represented

1,1,9,27, 25, 125,7,343

A
(A) 49 (B) 37 ©) 22 (D) 34

mﬁ%mm%mmmmﬁo

Wh
ich of the following words has its lettefs In an alphabetical order 2

(A) Collops (B) EnvelopE] (C) Bloops

(D) Adrops
ﬁqu&@mma‘ﬁﬁqaﬂtﬁn%ﬁaawwmﬁml

5> Al (i) o

oo
Q‘h
W\‘ll__]\.

p (&)
1113 —> o am
17\ 4

A — ffea m
ﬁ@%uﬁaﬁaﬁﬁmﬁwﬁﬁﬁﬁﬂﬁ%"

(A) 31 B
(B) 22 T (C) 20 (D) 16

Examine the provided diagram and res;{c’ﬁjd to the following question

8 Q —> Employed people
6

11 [3
5
17 G

w —_ Backward people

A —> Educated people

How many individuals considered backward are not educated ?
(A) 31 (B) 22 © 20

0.05, 0.5, 0.25, 1.25 =1 HgwH GHAde (HCF) gra $if |
Find the HCF of 0.05, 0.5, 0.25, 1.25.
(A) 125 (B) 0.25 (C) 0.05 D) 0

(D) 16
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22,
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24,
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26.

27.

ceogfer B T 3 Faare |

gi R i inder 3 in each case.
o SI Te i i il 4, 6,7, 8 39 Y RS [caves the remainder 3 i

Find the smallest number which when divided by 4, 6, 7, 8 and 9 1€ (D) 504

(A) 501 ' (B) 510 5 (C) 507

RS '&'Zﬂ%?
afe 30 & T T 7o 40 %ﬁﬁ%ﬁﬂqﬂﬁiwﬁ ﬁﬁﬁgﬁ?}in what is the loss percentage ?
If the cost price of 30 ;\ables is equal to the selfliiig price of 40 tables. (D) 30%
()" 25 (B) 37.5% ;g; ey et 1 T H T © | 379 98 R wiie
T T skt s w10 7 4 1 XX 30 I o o gk € 108 5
R0 ofrma ST © | ST T T T whyerg w2 2
(A) TEfrTemy (B) wfr wfawrd 12%

19,
© w3t 1120, [ () SRR Lg%

A fruit seller buys some oranges at the rate of-fé; for T 10 and an equal number?more at 5 for T 10. Then he
sells the whole lot at the rate of 9 for % 20. Wﬁﬁ‘t is his loss or gain percentage

(A) Noloss or no gain &% (B) Losspercent 12%
" (. 19

(C) Loss percent lé—l% E;‘f (D) Gain percent 18—1%

aﬁm%maﬁraf119ﬁrﬁm3ﬁtf21§ﬁrﬁm%|f179%%5(1@2?@@1‘\?’3‘““*@%%‘?%

SR 3 ST 1 ST 1 e |

Two types of rice rates are X 11/kg and T21/kg. Find the ratio of the two types of rice to obtain a mixture

of rate ¥ 17/kg.

A) 2:1 B) 2:3 ©€) 3:1 D) 1:1
12.5%ﬁaﬁwwﬁrﬁaﬁwﬁgﬁa%&rﬁ? .

(A) 20§ - (B) 10a¢ ‘fft! ©) 123§ (D) 8ad
In how much time will an amount be doubled[gﬁthe rate of 12,5%, 9 -

(A) 20 years (B) 10years ?L) (C) 12 years (D) ‘8 years

TR X ¥ o Rl o ) 150 Rt & ff et % o 200 it 1 s v | 2R 50 R 4 Spere

;m-a*mﬁmﬁmw,a}qgmaﬁwwmm%m ﬁgﬁ%qaﬁww%&ﬁﬂﬁﬁﬁﬁww
, @

Indian Railways employed 200 workers to compléte a certain work in

work had been done in 50 days, then to complete the whole work in tj
workers to be employed ?

(A) 300 (B) 200 ' '(C) 100 (D) 600
12‘3,3‘?3ﬁtIsﬁaﬁ@mﬁloﬁﬁﬁmmﬁmgw%ﬁt.@w??ﬁmﬁlzﬁﬁﬁmm
%lHﬁzgwaﬂmwﬁmi@mwﬁmﬁm%jﬁ&mﬁﬁﬁﬁwmm%?

(A) S0fm (B) 60fH ©) sofm (D) 70 fex

12 men and 18 women can do a work in 10 days. 9 men and 18 women can do the same wory in 12 days.
If 2 men and 3 women together do the same work, in how many days will they complete the work ?

(A) 50 days (B) 60 days (C) 80 days (D) 70 days

e e T
-mm-————-—-

150 days. If only one-fourth of the
me, what is the number of additional

e N
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31.

32.

33.

34,
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&1 Yermteat shaw: 59 fefi/eer A - T feamaiy
m’mﬁﬁmmwﬁ%@%ﬁ16%ﬁwm%lhﬁ%aﬁﬁaﬁﬁwﬁ
TS J1 I |

(A) 1241, @®) 1237 © 170, (D) 1207t

o . in the
Two trains travel in the same direction 3;59f l;m/hr and 32 km/hr and the faster train passes a man 1
slower train in 16 seconds. Find the length Ot the fagter ¢

(A) 124m (B) 123m ©) 170m (D) 120m
67#121%1‘%1%2?101‘1%1&3311‘12(@‘1“#“%%lbmssmﬁﬁzﬁﬁv@%@ﬁﬁm
T H T A wwg g SR

(A) 5.5%%g (B) 45¥HS (@) 6.7 (D) 8.8 %S

A 67 meters long train crosses a tunnel of length 3‘3'.4 eters in 10 seconds. Find the time for the train to
cross a man standing on a platform of length 65 metety.

(A) 5.5 seconds (B) 4.5 seconds [(ii) 6:7's830nds (D) 8.8 seconds
REEESECEICPIEE CCERIEEE 3% T i e o 8 i 4 1 % STFTd & S & | 3
et ot i A it st fererae wifees s 10,000 %, i sredr <t riftrer 37721 St v |

Nikhil and Reetu earn in the ratio 2 : 1. They spen(rlh the ratio 5 : 3 and save in the r_atio 4 : 1. Find the
monthly income of each, if the total monthly savingg:gf both Nikhil and Reetu together is T 10,000.

(A) %2,000,T1,000 (B) ¥8,000,4,000  (G) %28,000, 14,000 (D) 10,000, % 5,000

T AT Th B S SR 33 F 20% NI T 2, 9% 5 Siehi § STV & ST R | U I B

aﬁxﬁqﬁﬁw30%‘§mm%ﬁzwﬁﬁaﬁézommmm%|aﬁﬁﬁg‘ﬁ%ﬁ-rqamm
EIGHGED )

In an examination, a student who gets 20%
scores 30% of the maximum marks, gets 2
for passing is :

(A) 22% (B) 20% ‘(eC) 42% (D) 27%

@ﬁfmmmaa&%mmﬁa@amﬁhv 1,600 % 1 3 ¢ % = W 7 W Sty
(aftieh 9 & T =amer) g i o

: . : ) .
The simple interest on a certain sum of money for rwo years at 5% is ¥ 1,600. Find the compound interest
at the same rate after 3 years, interest compounded g’qnually.

(A) 2,555 (B) 2,355 HC) T2,520

12-02-2022 & 11-02-2023 T 15% i o i 0 273,000 T HTHRT ST 2 -

The simple interest on * 73,000 at the rate of 15% per annum from 12-02-2022 o | 1-02-2023 is :

(A) T13,450 (B) %14,750 (C) T12,050 (D) %10,950

T 475 31t 3T 15% T R 1 O St e Rt e 2 9

What is the discount on a pair of shoes marked at 157375 and discounted at 159 9

(A) T7125 (B) T7525 o) =70 (D) T72

O THER G g & 3ifehd o0 W IO%ﬁgzéﬁééﬁﬁB;E?IﬁW@trt 8% T fersht &g mmman @ | AfE

e foft e ey F w T 34,020 7 yprar e &, 1 3R e e 2

A shopkeeper allows a discount of 10% on the mjdégd price of an item but charges a sales tax of 8% on
0.

the discounted price. If the customer pays ¥ 34,0 s the price including the sales tax, then what is the
marked price ?

©
(A) 39,000 (B) T38,000 10) 34,000 (D) 35,000

of the maximum marks fails by 5 marks. Another student who
0 markg more than the passing marks. The percentage required
L.

(D) T2,522



a3 L (e 0) T ol m B T SR b &
X

|
36. | han !‘
If the average of x and % (x #0) is m, then the average of x* and x2 18 : i
. —2m
(A) 2m?-1 (B) 2m?+1 © 1-3m D) 1
37, O ST W Gl F 3N 132 8, R veeh st sifi et S T HINT | -
" 1f the average of 9 consecutive eVen numbers is 13, find the difference between the first and the las
numbers.
(A) 16 (B) 18 © 19 s

38 W%uﬁﬁmq@ﬁzs%ﬁaﬁi%qﬁwwm@aﬁ%l,zooﬁ6%mmmaa@ﬁztrm% | ST
a1 it TR sifves e < o ? S
As a result of 25% hike in the price of rice per kg, a peréqu'l is unable to purchase 6 kg more rice for
% 1,200. What was the original price of rice per kg ? :3:
(A) 50 (B) 260 (C) =30, (D) %40

39. I ek arw o fafi R @@m%@?)%aﬁtm@@@m () W FS § I 9 o8
eTeh! (W) i FET 7, T TTH ST -1 (R -DTTT) ST ST T 21 2
(A) T () () PR @ie) (o) e e (D) s (i)

If you have a regular icosahedron and

You slice it along a plane that intersects six of its faces, what is the
shape of the resulting cross-section ? .

(A) Pentagon (B) Trapezoid (C) Hexagon (D) Rectangle
40.  Frefcfad siae § e de it vemw i ]
Identify the incorrect number in the following series. ]
4,7,13,21,34 ]
0
(A) 13 (B) 34 ©. 752 (D) 21

. : _ ¥
1. fewm fot & srafter o (wgm) <6 e g B 7
Find out the number of the cubes that are arranged in the figute given :

)

\\
vd
ok :

% g
N\ :

(4) 18 ®) 17 © 24] (D) 16
o)
42. wﬁﬁmmmﬁwaﬁwahq;am%,ﬂ’f@ﬁwﬁa@g@w%?

If the sum of three consecutive even numbers is 78, what is the second largest number ?
(A) 26 (B) 28 (C) 24 (D) 30

R i
O Ld L

-

GWz-24. Page 8 of 24



3, from@ gl

Choose the odd one out,

A) KL B) QR Ll © az

| (D) FG
. mﬁma&mﬁﬁfﬁamaﬁrﬁqﬂ%a&mﬁﬂwwwh
Find the mirror image of the figure, if the mir{'O} is placed at XY
3 it
. ()
: W
A
4 U
.
Y
. ]
i
2
“
2
© -
+§ (D)
(%)
45, SR & Byt B e g B
Find the number of triangles in the figure. [I
]
e
iy
ol
N
a‘pfj
A) 9 L
(B) 8 ©) 12 (D) 16
46. ' :
Waﬂ;:ﬁtsﬂmm@@q@mﬁm, "I AT A Y A g 3 2 | qR Aieen I § R R
(A) & B) & © (D) &

Pointing towards Aneesh, a woman said, “His mother is the only daughter of my mother.” How is the
woman related to Aneesh ?

(A) Sister (B) Daughter (C) Mother (D) Grandmother

Page 9 of 24



47. RN (1,2, 3, 4) A3 FA I — ey, Fey,

48.

49.

50.

51.

L]

.klllﬁ;ﬁ;ﬁﬁﬁ.ﬁﬂ:ﬁ%agsawﬁﬁ%?ﬁﬁ%ﬁﬁ

ft 3 et & & 7 i 3w =t & T W R g
@'&g?ﬂT%l

TR ISR 4 (:.;; 1—%”’2#@3’3_@%4_%
(A) 1-98,2 - FaT, 3 -T[ {(g) o e
(€) 18,2 ¥, 3 - @, 4 - H (D) 1 e, 2 -9, 3w 4

ach pick a different fryjt — 410 banana, cherry and date. The person who picked
fl?: l;rr:;lcz:prlse 1£é’\t2 t03 tl?c) ;25511)51.\\/!10 picked the banaﬁgpalsa not next to the person who picked the date. The
person who picked the cherry 1s next to the person whg picked the date.
The correct combination is :
() 1~ Cherry, 2 - Banana, 3 - Date, 4 ~ Apple () 1 - Banana, 2 - Apple, 3 - Date, 4 Cherry
(C) 1-Apple, 2 - Banana, 3'- Date, 4 — (.3herry (D) 1-Banana, 2 - Cherry, 3 _ Date, 4 — Apple
T e o6 wwelt ST (X) ﬁﬁ?"ﬁ@#aﬁqﬁu@ﬁﬁmww% |

Find out which of the figures can be formed from the pieces given in the first figure (X).

EV <
L
W% O
;
23]
X) &
(A) (B) © (D)
mﬁd@qﬁmaﬁﬁql
Find the dissimilar numbers, -
(A) 16,25 (B) 49,81 ldy 8,27 (D) 4,9

ﬁmfaﬁaaﬁﬁﬁq-maﬁ@fﬁzn%waﬁ,waﬁm%ﬁmm%ﬁamaﬁm%?

Which of the following diagram/set indicates the relétél)n between women, mothers and parents ?
B

w (0D » (©

£
G
(€) (D)
HIGT g i |
Eﬁﬁ:m::‘ﬁ'@f:?
(1) fiw ®) fe ©, % S 1
Complete the analogy.
Glove:Hand::Sock:?
(A) Head (B) Arm (C) Foot (D) Shoe



52. WG U HIT |
sfafer-an ; Sfafter I - ; MamEn ; 2 i
(A) FX (B) &&TS SIE™ (C) wgsst (D) TR
Complete the analogy.
Astronaut : Spacecraft : : Diver : ?

(A) Car (B) Airplane (C) Submarine (D) Bicycle

53. @ﬁiﬁaaﬁwﬁxwhsi‘@m%mwgﬁgwﬁmmm%mw%|trft01m°raqgsr@r-w
(FRIE-HEFET) ST SATHR 13 2
(A) ddqa (B) Hfavtaery (C) Tad (D) 3

A cylinder is intersected by a plane inclined at an angle of <5;:degrees to its axis. What is the shape of the
resulting cross-section ? :

(A) Ellipse (B) Hyperbola (€ Pa%bola (D) Circle
54, qﬁCATWEﬁ'&’DBU%ﬁTDOG%‘IHﬁEW%? (":
Ifthe code for CAT is DBU, what is the code for DOG ? [:

(A) EPF (B) EPH (©) DEE; (D) EOF
55. ﬁ%‘%ﬁaﬂmaﬁo,1,2,3,4aﬁm:A,B,C,D,Em%hTW%|[(B+E)_(D+A)]asrtn=rsrm
Hife |

According to the code, di
[B+E)-(D+ A)].

(A) 2 (B) 3 ©) 1

gits 0, 1,2, 3, 4 are represented by A, B, C, D, E respectively. Find the value of

(D) -2
56. el H 37Tl T Far anft o N
What will be the next number in the series ? <l
3,6,18,72, 360, ... U
- O
(A) 2160 (B) 1820 © 2t§0 (D) 1260

57. a:mpﬁa“a@qﬁamA,B,c,D,EahFﬁ,érﬁaﬁash% - D@ﬁmﬁ%aﬁwwﬁmél F,Efad
2 AR Th R Y | C T T @ 31 A A forarfeq 2 BIIN 2| B, Ed fre whm g 2
(A) =t (B) wnft (©)

1 ples. D is a teacher and the
father of E. F is the grandmother of E apd 5 housewife. C is a lawyer and married to A. B is not a male.
How is B related to E ?
(A) Mother (B) Aunt (C) Sister (D) Father
8. T I ol wfl wa o T | O]
fereber e after €t et o d
F Ui 3 vk e
(A) ForTm (B) Uz (C) %ﬁw (D) 4R
59. ﬁu%f@aﬁ@rﬁq-mmmwa‘f%? O
(A) v (B) ®Th (©) @mﬁ (D) I
60. 1o 3 =i weh rer frer €, A s AR E ®
(A) ofwr (B) HISTOT (C) ST D) Wgw=em
R T s S L
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

14.

75.

: Fradrad e
(A) T (B) (©) m (D) 99
e T S R AT A G R 2
(A) gt & /T fearT (B) 3T AT it ST AT
() i fsf g (D) 37Tt ST el &
‘wﬁwmﬁ’mmﬁmmmﬁqmm%?
(A) T (B) ST (© (D) dE

Fod o o e ST T 6 STt e e

w memmasgd ® T2 A (o) e (o) g
ﬁq%%aﬁa‘am’wmaﬁ?ﬁrﬁﬁ%@lﬁm%? \

(A) =:+3S (B) ML +dg |(, (C) = +T% (D) 99: +3%
2019mmﬁwmwmmﬁ%mmﬂ?

(A) FefriReEE (B) WU AW A Ug (C) Twetw fiym (D) iy fiig
A | FH-GTEHE & 7 :

@& fa B) T © ¥=EdE (D) ey
T T T T AT HT A R

(A) W FIR I el . (B) w st afi R

(C) WAt g [;;l (D) TS &Y § WA 2T
ﬁqﬁf@aﬁammmga’mmwmﬁew%?

(A) @™ (B) fym - 5. ©) g D) &R
AT T T R 2 ()

A) T (B) 2 [ﬁ;! ©) 7 D)
Bomafmt T iEm et 0

(A) WHRIMTHT (B) U M (C) @ VGH (D) AV vFhT
et e i et e v ST AT 3 R T v ST

(A) ¥ B) wfrm (C) et (D) 3TgHTEA

ﬁn%ﬁaaﬁﬁmm%aﬁmﬁm@mmﬁh%mﬁ?
ST, — UATRT, TTSTe, ITTH, et L;;'|

(A) AT, AT, 3TH, 1 . e (B) ST, I, T, IR

(©) 31, 3T, 311, [(l (D) I, AT, 3T, AT®

[ AT 1 = i ()

(A) mﬁﬁ?{{ﬂﬁm&ﬁﬁa@mﬁé‘;! (B) wrea e & b, fore =t aree o 5 feam s |
_(©) I 3 20 ® () ITWETAGWFEIET
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76 ra e Y P AT T

O (z)aa ;ﬁwq -.m (C) &, & (D) &TeR, ST
77. (;‘?T,ﬁ":fm (B) na (€) R (D) 7
ErerfRrfiaa o & aTRT & YE E9 S I ;
i N (B) e # st e £
©) YRaH aE R | (D) T & 3t wifer € |
79, foremee g e
@) () ®B) (1) © ) D) (-)
80. foRer AT i *3r=ar e o4t e v Fdw F gann o
(A) 33T, WO | < (B) 31<a1 2 37 anft 3 |
(©) T st i e n (D) & T wgq 3F=an |
| 8L YHENTC F TR E B2 ‘
(A) Ao B) gram () (C) wea fiy (D) &M
82. I’ IR H ARATR T R 9 [:g
(A) Tt (B) fru= %) (C) 7 eTrargam (D) 37T TRy
8. Frfifmidsmmrgemes
(A) & (B) Hfy (©) & (D) =
84 IR N A D R | A a2 0
(A) THFRHIAE  (B) am=radam (C) sfee adam (D) EWT=T S

85. ‘3T - vy w-@qwaﬁﬁm%v:

(A) = - 3rirg < ®) T - frst

(©) ﬁmaﬁa%—mﬁ; E{-JJ (D) Mg - Fee
86. ‘mwﬁwwm’—mﬁsaﬁr%m:

(A) THET A T e sy [] (B) F1 Gree qug s

(C) St & Rty o (D) HHe & T s 3 for v
87, Ford e & ver v v e

(A) wFE~ (B) g (C) {urzy (D) gyw
88. Wﬁﬁﬁﬁ-ﬁmﬁmﬁ?ﬁ%?

(A) yE (B) g (C) TR (D) WA
89. T =1 mifeqa ol 2 -

(A) fre (B) fo=iq E} (C) dfam (D) forea

(H. 909 94 Terror )
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: T 14T ol g _
WT;??E = (B) WU, =el (©) &, (D) e, ST
(A) ’ )

—s me?\{ﬁq .
77 (ﬂj" Egjm (B) W (©) &R (D) =iz
78, Freffad § & AR o Y& €9 & 957 i ; |
| (A) @ SRR
(C) YRAH IAHNTE |

76.

(B) A & et sl §
(D) RA 7 =i Wy §

79. ToromEuw g

A () ®) (1) © ) D) (-)
80. mwﬁ‘m’mmmﬁﬁw?ﬁqﬁgm%?

(A) 3T, 0 T | <] (B) 31 9% a0t s

(C) T 7= fRam <t sy | ] (D) & wrm wga s 2

8l YHETR H R &% |

(A) e (B) gtz () (©) wew fiyy (D) wemm
82. ‘I’ W% S WHNT FT R 9 Ea]s

(A) Tt ®) F g ©) 7w gan (D) 3nr sty
83. ﬁ%ﬁaﬁﬁaﬂqmwg’r‘v—m%?

(&) & (B) fa ©) &m (D)
84. a‘a’@é‘éﬁﬁfrﬁgﬁ%é%ﬂlmmﬁﬁmm%?

(A) THATTEE  (B) wmr ada

85. ‘mﬁa-mﬁa’m-gmmwﬁmgﬁq:
(A) = - 37 !

(C) Wiee gdum (D) BTy T

(B) T -frex

© forrar & - argfy (D) 37tE — Freret

L
86. ‘maﬁm@ﬁ@m’-ﬂ‘lﬁﬁsm%éﬂn:
(A) TEHE T 9 ooy sy ]

(B) F Wreart qoa sy

©) I oy o2 (D) ¥ & & S/ 3 forw Sy
87. ‘ﬁﬁméwww’%m@m&‘%‘:

(A) TR B) wgm (©) g (D) gy
88. ﬁw%iﬁaﬁﬁ@q-ﬁmﬁm?ﬁ%?

(A) (B) 3t (C) ¥R (D) S
89. W =T nifeae anef R -

(A) fame (B) fa=az [.—:} (C) wfyw (D) ferega

(9.6, 907 94 Trerivr 727)



‘;
o o T AT T | R o ez e g oY AT T SR B, T Ferm T o gy
3, fored fog™ "

Tafer 2 ek | STt st wifteg
, e € - TERIE AT I ik eAried bl Ie
%leﬁﬁmﬂ%%gﬁmﬂﬁ%aﬁtmmmm%mﬁm%I
CaRZILILIRE

g 5y watHioT e BT ST HhdT R, 7Riifeh :
90. T?ﬁ%mﬁqﬁ,mm%uﬂaéwﬁﬁﬁma% ‘ \
EB) S it st TfeRfier g

(b e aftafda 81 TR |
.ﬁwﬁzaﬁqﬂaﬂwﬁﬁmﬁmﬂmimwﬁﬁﬁ .
91. ?:\)I syl e T B &5 A T (B) wwﬁﬁmﬁﬁmmu
(C) HFaT P g Y g 7 5+ AT | (D) agaﬂamﬁemm:r‘él

92. mmmaﬁwfﬁﬁm%uﬁmwgaﬁ%
(A) & fag o fredass v @ senfia 2 (B) mﬁmﬁm@mmw%l

(C) WHE S8R 3 el STEaH T 8 | (D) ag%n;ﬁasﬁﬁmmﬁﬁﬁwwﬁél
93, T Ty fren i waifE FEEU AR ®

(A) it o1 whit fererm | (B) Tirefier sfa =T Semad |

(C) <fram = s sifoes foem | (D) Sfta =1 gatior faem |
94, HHE e I THGL I & H Uk ThaT ¢ ?

(A) EH{d-SHTd 1 Ut W W (B) W @yl 1 fmer ek

(C)  fifereh Sfiem-Teat a1 Feftor ek (D) iﬁf&-wﬁwn@ﬁﬁmﬁm

95. U AN 3 U W1 FY 25% A WA | AR AR @ 35%@%@1‘\@ 1T g8 = 732 7 ST, A1 I 36%
REEEUIR ECERE SESE E ]

an G
A person sold a horse at a gain of 25%. Had he bought it fo{‘%S% less and sold it for ¥ 732 less, he would
have made a profit of 36%. The cost price of the horse was r

(A) T1,500 (B) 1,800 (C) T1500 (D) 2,000

. &)
96.  If2 EXAMINATION FI VCZNRMZGRLM ¥ &9 i S {31 ST 2, 9t WRITTEN %1 68 510 FITG
EZRIE I )

If EXAMINATION is coded as VCZNRMZGRLM, then how will WRITTEN be coded ?
(A) DIPGGMN (B) DIUGGMV (C) IDGRGMV (D) DIRGGVM

97. T &I H, W S 103 A F 365 WATR | mﬁ@mﬁm%?

In a class, Sambu is ranked 10 from the top and 36 fror_xi}he bottom. How many students are there in

the class ?
(A) 43 (B) 44 (C) 4£;‘;] (D) 47
o= - . .
8. K LAwehR oM, Lfragad| N, K F1 3012, 5@ 0, WA TR | OFKFFNER 2
(A) far (B) #t ©) a7 (D) g’g{ :
Kis L’s wife and M i L’s sister. N is the daughter of K, wge 0 is M’s mother. What is the relation of O
toK? d
() Father (B). Mother (C) Mother-in-law (D) Fatherinlaw .

oWz T T T e 14 0f 24



™

00, s # ST WA 1 HINT 6, 24, 120, 720, ;13.
. I;ind the next number in the series 6, 24, 120, 720,{.,j 3

(A) 5400 (B) 5040 ’;;ja(C) 5440 (D) 5004
100. 2§ siwern § | fwm (Sier) it I AR )
Find the odd one out from the given series : L]
486, 482, 478, 474, 472, 466, 462 ‘*’5
(A) 474 (B) 472 () 478 (D) 466
101. @wsoﬁ?ﬁtﬁanﬁﬁ%ﬁnﬁrﬁzsoﬁmﬁtﬁaaﬁr@mm%Imqﬁmﬁﬁ - )
(A) 4% (B) 6% ©) 5% D) 7 S

to complete the journey ?

(A) 4 hours (B) 6 hours ](C) 5 hours (D) 7 hours
102. Freferfien sigsrm 3§ o wem S 2 0 t:f]
What is the missing number in the following sequc;nje ?
3, 18, 90, 360, 1080, 2160, ,0 na
BN
(A) 360 B) o {jC) 2160 (D) 1080
103. aj@mﬁmmmﬁﬁqu,w, 75,119, .|

Find the next number in the series 11, 39,75,119,%8
(A) 181 (B) 191 *0) 161 (D) 171

104. I INSECT =t JOTFDU, HOUSEFLY =} IPVTFGMZ & ¥4 ¥ shasrg frar SIGIR

If INSECT is coded as JOTFDU, HOUSEFLY ag IPVTFGMZ, then BUTTERFLY wil] be coded as :
(A) CVUUFSGMZ (B) CVUUSGMZFE (C) BVUUGMSG (D) GMGUUCVF

105. 1< 95474 #Y KGFIF ferarsmar®, 82143 g | ST 9
1£95474 is written as KGFIF, then how wi]| 82143 be written ?

(A) JDCEF (B) IDCFE LQ(C) JCDFE (D) JCDEF

1~
106. A, B aﬁrcwaﬁmamm%eﬁmﬁmﬁmﬁwmaﬂmmw%a}m%wm 3R C 1 e
a5 70 foreiimm 2, @ B ras w2 9 N
(A) 21 framm (B) 20 fereiiumy ¥¥(C) 17 Terciome (D) 18 Fercitomy
The average weight of A, B and C is 60 kg. If thé;gverage weight of A and B is 30 kg and that of B and
C is 70 kg, then what is the weight of B ?

(A) 21kg (B) 20kg (€) 17kg (D) 18kg

107. 40 BT 6T O F& H, 15 o1 Frhe Ter § ot 15 B e we & skt 5 B IR O Qe § | ) et Y
w15t et TE Qe A ot v
In a class of 40 students, 15 students play cricket and 15 students play tennis, and 5 students play both the
games. Then the number of students who play neither of the two games is :

(A) 25 B) 35 ©) 15 (D) 10
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crar = ey i 3 R A (S T ) ) gy 2, S < B T (e st wgm
%ﬁ%mmmﬁmwmél
[

108.

[l
@Mﬁqﬁmm%m%mﬁt@fﬁi&ﬁg%mmwww%ﬁmw&wzo%
FHI 1 ST 7 5T, ST Gl i Tt e werer e ot et <t st =vf 2

(A) T4845FIg (B) TS254Hs 8% () T8 FHT (D) %5500 FIS

The given pie chart illustrates the various sgﬁrces of funding (in ¥ crores) that the Public Works

Department (PWD) plans to collect for its Phas%él Projects.
i
G)

External Assistance
11,486 [:”

Market Borrowing
29,952

To support the project with € 4910 crores through toll collection by an outsourced agency, allowing for a
maximum 20% commission, what is the total amount that the outsourced agency should be permitted to

collect ?
(A) T 4845 crores (B) %5254 crores (C) T 5892 crores (D) T5500 crores
109. Y, XFEHE Sz Famid 2 aRkp, z HaU AR, AP, Y FirgRm iR o
(A) S (B) eforufim (C) Iea-ufym (D) zferor.s
Y is in the East of X which is in the North of Z. If P is in the South of Z, then in which directionof Yis P ?
(A) North-East (B) South-West (C) North-West (D) South-East
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110.

frafafiad JEan | Tad gear i I .l |
Find the incorrect number in the following series.
1,12, 144, 1782, 20736

(A) 144 ®) 12 2 206 i
111, T ST 1 U 1% 1 e 3 g0, T AN 3 ey oy 3t 3 " I 1 Tk & T Hely
?
i) T (B) =f (C) fran (D) wir§ .
Introducing a boy, a girl said, “He is the son of the daughter of the father of my uncle.” How is the girl
related to the boy ?
(A) Sister (B) Mother - ) Father (D) Brother
112. uﬁﬁmﬁaﬁmxfmﬁmﬁmma‘rmﬁ e fear s 2
(A) <Ry (B) fiurufim ©) smafim (D) 3Iw-gd
If West is replaced by South-West, then North will beyeplaced by
(A) South (B) South-West [[@) North-West (D) North-East
3. T whicie Jer R vt 9 g
(A) W g3 ®B) T eferen
(©) afRime win (D) Tt &
Who wrote “The Scarlet Letter”
(A) Mark Twain (B) Herman Melville
© Washington Irving ) Nathaniel Hawthorne
114, Wﬁmﬁaﬁ%@hﬂmw#ﬁwﬁaW% ‘ MW%W&”@W’WW%?
(4). e B) Fwmm ) 3 (D) %EgH
Which social media platform has feature called eaks” to €ncourage frequent communication between
users ? 3:‘
(A) Snapchat (B) Instagram (ﬁb) Twitter (D) Facebook
115, T ST 1 Tt et fere o 9 o3
(A) TR (B) &gy QC) iy (D) wge
The capital of the Pallava dynasty was located at
(A) Thanjavur (B) Mysore © Kanchipuram (D) Maduraj
116. forefrar e s (FSB) /T a1 & 2
" (A) a%ﬁmmﬁa%sﬁaﬁﬁ?ﬁaﬂmmm
(B) agaqﬁm%sﬁ%ﬁ%sﬁgm ST T Weiyg
(C) waﬁmm%%ﬂa%ﬁ%mmaﬁaﬁ
(D) Rﬁﬁu@wgﬁfmw% 1 2
What does the Financial Stability Board (FSB) do 'O
(A) It provides financial support to developing c@tries.
(B) It manages the foreign exchange reseryes of ¥ member countries,
(C) Itregulates interest rates for central banks wc@dwide.
(D) 1t ensures financial stability
GWZ:3q. 77T e



117, a3 S G F T & I T A 2

iRt TG e D) AfHa™ T=a

(A) (B) ud (C) weEd @H (D)

Who was chosen as the brand ambassador of GST ? Kk

(A)0 Deepika Padukone (B) Shilpa Shetty (C) Shah Rukh Khan (D) Amita achchag

118, Freaffad ¥ & F1-6 YT e 3R ST 6 e iy 20 | @m
(A) -3 Qg (B) 491 Fetet wrey © RehEaE ;D) SIEG]
Which among the following lines is a boundary between France and Germany .
(A) K-WlLine (B) 49" Parallel Line (C) Siegfried Line (D) Senger Line

119. Frwr =R wEIEEr (DGFT) i%ﬁwamémmhm% ?
(A) TEW, Y 3R TeAH IGH HAE 7
®) fw <Z]
(C) fo T [:]
(D) O U JanT WA P
The Directorate General of Foreign Trade (DGFT\)ﬁomes under which Ministry ?
(A) Ministry of Mirco, Small & Medium Enter;ﬁj:ges
(B) Ministry of External Affairs o
(C) Ministry of Finance (&)
(D) Ministry of Commerce and Industry

120. T <1 o 1A o6 foTT -8 ol STawash & 9

(A) faferi (B) TERA () wEH (D) i

Which element is essential for the production of |[il.]clear energy ?

(A) Silicon (B) Hydrogen ) ] (C) Carbon (D) Uranium
121. e I 53 F e fret & sfta amrar 0 E]

(A) FA=I -0 (B) "YU

(C) mhFmETe °; (D) rﬁ?m

NOIDA comes under which district of Uttar Pra(Eah i

(A) Bulandshahar : e} (B) Mathura

(C) Ghaziabad ' ' ®) (D) Gautam-Buddha Nagar
122. {9 o1 feag s mmar ST & 9

(A) 33 (B) 15 3 (C) 10 3ragsT (D) 9 FETR

When is World Post Day celebrated ?

(A) 3™October  (B) 15M October C] (€) 10" October (D) 9™ October
123. 204 TF EI R R TGEFAR? ]

(A) o (B) U~y fiw ] © frearie w (D) e

Who heads the Union Ministry of Home Affairs gS}of June 2024 2
(A) NarendraModi  (B) Rajnath Singh (7)) (C) Nityanand Rai (D) Amit Shah

124. 3T 37 ik A wongn forw ad # gd ot 2 Et}
The Indian National Congress was founded in w{)éﬁh year ?
(A) 1905 (B) 1947 (C€) 1857 (D) 1885



125. T %1 TeelT GITS TS ST et T feerd o1 ?

<
(A) HEE (3T) E‘% (B) S ()
© feeeh , o (D) T (I
Where was India’s first airport located ? ?,
(A) Madras (Chennai) [:l (B) Bombay (Mumbai)
(C) Delhi &)’ (D) Calcutta (Kolkata)
&)
126. T & =raramE ¥ R, dameit ¥, GST Tofteron & fora sy firfire efam 7 2 2
(A) T209@ (B) T507T™ (C) T59@ (D) T109™@
What is the threshold limit for GST registration for businesses in India, for services ?
(A) T20lakhs (B) ¥ 50 lakhs [l (C) TS lakhs (D) %10 lakhs
127. ﬁwhqwﬁmawﬁaﬁa‘rmmﬂ ¥R I A @I FT TAHR O A7 HAT0H el H
i ey 3 e ot 35 fore ReaT AT | [;] |
(A) o Refim B) FeRERiT & (C) VPN (D) Ry
uses images with malicious files in th[_e_'? meant to help a hacker steal your account information
or infect your computer. ol
(A) Image phishing  (B) Catfishing &} (C) VPN (D) Smishing
128. SRR OIS i TSTET 18 2 |
(A) uferme e (B) gHEME (C) SRS (D) TRZEH
What is the capital of Republic of Croatia ?
(A) Mexico City (B) Dubrovnik [] (C) Zagreb (D) Amsterdam

129. aﬁmﬁ%mﬁﬁmwwﬁﬂaﬁaﬁﬁwgﬂﬁﬁm% ?
(A) WWW@H%W@MW@@@&&HM@%W@&WW% |
(B) &% 371 29l & T HafHli § gUR a1 & | Q
(C) E SR Fr EaTRE G i Sifereh AefL g e 3 SR e |
(D) T8 &1 Y ATl <l FSTad hi & | gi
In what ways does information sharing become important in fighting terrorism ?
(A) It allows terrorist organizations to coordinate attacks more effectively through security agencies.

(B) It improves relations with other countries.
(C) It allows authorities to identify potential threats more quickly.

(D) It strengthens the military’s capabilities.

130, T ¥ e T 29T bt woret 3 T ¥fir 35 A S SR 2
(A) HHR (B) W (C) AUt (D) e

Which of India’s neighbouring country is known as the “Land of Thunder Dragon” ?

(A) Myanmar (B) Bhutan (C) Nepal (D) Bangladesh



- & 3 - ae A e T8 R 9

(A) =T (B) T 13 (€) == (D) wETH
Which of the following is not a Social Medi atform 9 -
. (A) Instagram (B) Google é]] (C) Twitter (D) Facebo
132. mﬁ%mmwwmmk@%%? "
(A) TN B) SIIT O (© w@frwgm (D) pEcul
Which of the following types of pollution is

qultural (accelerated) eutrophication ? -
(A) Soil pollution (B) Water pollutiany (C) Noise pollution (D) Thermal pollution

®

133. 1946 ¥ fanfliamor & SN RBI & Tt & 9 9
(A Haws ® i
& = 3 (D) . Yeamra

Who was the Governor of RBI during the demonetization in 1946 2
(A) Urjit Patel (B) Shaktikanta Das
(C) Chintaman Dwarakanath Deshmukh (D) D. Subbarao

134. mﬁﬁunmﬂq-mmm%ﬁﬁﬁ%@mam%?

(A) WRTIV (B) wmv X (©) wmn (D) MWTIII
Which part of the Indian Constitution deals with the Directive Principles of State Policy ?
(A) Part1V (B) PartV (C) Partll (D) Part I1I
ol
135. T&0 “Q s foreretie fopess g vt o ot @)
(A) ST Yew (B) Tia frurdt e
(C) e auf (D) Aferefiror mw

The book ‘A Life Misspent’ was written by whom ?
(A) Jawaharlal Nehry

(C) Mahadevi Verma

136. mwméﬁ?maﬂg@w I
(A) IgF mm@%mmm@@w
(B) Yad Wbt ah1 Wiy (Foram) O
(C) < 9oy hr Iufyfy 0
(D) 3T % FHR A WehreT 77 Sygivgey o3
The main reason for the blueness of the sky is@©)

(A) the scattering of sunlight by air molecules
(B) the scattering of white light

(C) the presence of water vapour
(D) the absorption of blye light due to the air

137. mgwm,ﬁmmﬁﬁﬁwﬁw,m@aﬁ@%?

(B) Suryakant Tripathi ‘Nirala’
(D) Maithilisharan Gupt

A) B (B) =t 3w © g (D) TH

Raman Subba Row, who passed away recently, was associated with which sport ? )

(A) Cricket (B) Table Tennis ol alD) Hockey S e
GWZ-24. T e



138, mﬁmwwm@ﬂ%? i
iV})lat is the name of t, - W : . (C;) o ®
€ longest river in Peninsular India ?
(A) . Godavari (B) Krishna (C) Mahanadi (D) Narmada
139, NI'H{CETE\U?E\TIW%?
(A) e AP e e, <fem ]
(B) 9Tt a1 el i, e ‘
(C) 3T I T e, S [';:*
(D) e BT e ey, dfean ]
What is the full form of NHRC ? -y
(A) National Humanity Rights Commission, In 'zi]
(B) National Human Righteous Commission, Ir(jgég
(C) National Human Rights Commission, India (&)
(D) Natural Human Rights Commission, India
140. = 1985 St -1 e o vt R e o7 9
(A) T (B) wfeem ©) e (D) I
The year 1985 was declared as the International Year of
(A) Children (B) Women _(C) Blind (D) Youth
141. mﬁwmﬁm@%mwmmaﬁtmaﬁﬁaﬁwwﬁ
HETIT Rl € | ]
A) fubm [-_:J(B) TR
©) TEm (D) e
research methods allow for in-depth aE]S further probing and questioning of respondents based
on their responses. )
(A) Mixed (3)(B) Qualitative
(C) Action (D) Quantitative
142, BRI 0 &9 H12 2
(A) I UE e iRl (B) sifth tg Te sffmefea
(©) e e e sffimfea (D) 3wz G oo gewt
What is the full form of BRI ? [j
(A) Belt and Road Initiative & (B) Basic and Road Initiative
(C) Belt and Resource Initiative [{]'(D) Belt and Republic Industry
143, ferfare =aferat a0t 3w e it geen <6 e ey < e e e fo Y Fmaa ¥
(A) Tfi ®) femfefim () wmwwfm () =
tries to trick specific individualslirito jeopardizing the security of the organization they
work for. “5
(A) Spamming (B) Spear phishing (r‘?')(C) Cyberstalking (D) S“ea}‘_jf‘_g _______________
Gwzaa, T
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144, el ST Tt g ffe e e B ot 2

Saf D) W= 2002
w2004 (B) 2004 (C) [T 2000 (D)

A ‘ .

iVl:cn was the first ever National Agriculture Policy announced ? (D) March 2002
(A) March 2004 (B) January 2004 (C) July 2000

145. o ﬁmmw%wa;hwwmmﬁmw
" oftwg am SR BT

The United Nations Commission on Hum
Council for the enforcement of internation

(A) 2006 (B) 1998

i i Right
an Rights wag replaced with the United Nations Human Rights
al human rights law in the year

(7€) 2000 (D) 2001
146. W%W-W%WWWWW%%
(A) Ream Swm (B) Hfre aky o

‘ (©) frw ferry (D) g+
Who is the first person to run across Africa ? (i“)
(A) Sisay Lemma (B) Kenenisa Bekele [] (C) Dennis Kimetto (D) Russ Cook
e
147, mﬁﬁw:w%wﬁmmﬁ%ﬁaﬁ@ﬁ%mm%ﬂ%mmﬁmﬁ
qUHR 2
(A) TR (B) wietrem (C) JIwmirEm (D) iR
The Indian Agricultural

Research Institute has dema
basmati varieties protected in India ?

nded legal action against which country for cultivating
(A) Myanmar (B) Bangladesh

[ ] (C) Afghanistan

o

(D) Pakistan

L3

%ﬁmw%?

v 8

CL(O) AWy (D) 3fifeen
S unique ‘Warli[ qaintings ?

(B) Rajasthan y

148. ﬁq-mwmwnwmm@‘am’ﬁam%

(A) HERTSE B) T~=E
Which Indian state is known for it
" (A) Maharashtra

o3 (C) Madhya Pradesh (D) Odisha
) .
149, ‘W’@mmﬁ?ﬁ%mﬁmﬁwm%m“ﬂﬁﬁsﬁ ?
(A) & (B) ey (C) W (D) amorf
“Chikankari» is 3 traditional embroidery style that originated in which city of Uttar Pradesh 9
(A) Lucknow (B) Noida [1©) P ayagraj (D) Varangs;
150. ey ST T Srerfiren shreoy sy 2 9 1]
(A) FG- 700 CO, = wrargivmy bi(B) A frama e
(C) qum L )(D) qgﬁma%mqnmﬁaﬁ
What is the Primary cause of ocean acidification } |
(A)  Absorption of CO, by sea-water l‘ ,', (B) Oil spills
(©) Overfishing

"" (D) Increase in sea-water temperature
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